EARAROBEEIERT — 2 N— IBISH —F 20185F9A29H (&) 13m{£E3H

m C2—3# C2 ¥#5%4mL ESRE IR
[AE£] 1% :220,000” ~ 23#%:66,000” ~ 337%&:22,000 ™  43%&:13,000 M 53 :9,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= s FAFIK :33. -1-1- . — MRz (EE)
il 7| v75> 213 > 5 fun 1(3_3)3 1-1-1-1 | 41.0 2 ig? ooy =1
R:g=Z/F¥LLy b BRI/ K-T afs =%
= N Al :33. —4-4— . = alEYX (58)
slglg| Fr7TIR2 e 7 S R LS |werz
L:ALNTyTIVE B:TAT7TVF -7 ZHRIT7— L
N /&4 : 00— - TIERE (5E)
3 8 9 /\Q/QA_}[/ #" o4 56.0 1(‘33/34.)6 s -2 ° (4_61[:; gﬁt% B
Liel/ BL—Ib B:OT7 MLy E— I
. i IFaE . 77 — AB®KE (EE)
4 2 D HE—T Ry l) 4 4 e " (17.3;% 7-7-7-6 | 40.2 1 (45;8) o
LHVRRT 49T BT E—N—H% kL TU8T7— I
; # 5 | REEZ 1:33.8 4-3-3-4 |42 — 6 455 | WITEX (1£H)
5055 |PE/ A~ 56.0 ) (o) | () J PN
RRTA RN BA—Trvut R/ E77—L
s = o7 | MAER 1:33.8 5-5-5-5 |40.7 | — 8 465 | RIEEK (1EH)
61111 ‘V'5(7'J7Z 56.0 (7€) (1) |FEIARFE
L—ibA7O— B:iArvz—4 BEEZX42 v K
_ B i . WP — ITFEX (E8)
7 4| 7R TF—5 it 4 = 1(.33/12.)0 6-6-6-7 | 40.9 3 <4+631) Elﬁ]é =
L:7Rv4va3V—-> B:LTFqTaTIll 2E BA
. . o6 | HAKEA 1:34.3 8-8-8-8 |40.4| — 7 556 | FIIEH (1£H)
3 6| T>F—t72— A53.0 (11/2) o |BEZ
L:ZATATv— BT 1 ANC b EBRTF— L
i o6 | AT 1:36.3 9-9-9-9 |41.4| — 9 486 |MBE (EH)
9 3 TIxR—=T 7447 56.0 (524 4) ) ‘EI?]) J P N
L:Ersaoq4 B2A4¥X3IX7)— TEHHS
® I—F—@EBIERL
13—7F— 7,8,9,5,1,4,2,6,3
Ao=5"= 7,9,5,8,1,4,2,6,3
T =35r= 7,9,5,8,1,4,2,6,3
41—F— 7,8,9,5,1,2,4,6,3
[ RN
B 7 330M 794K 7-8 410 & 7-8 570M &R 7-8-9 2,350
# B 7 160/ 7-9 390M B E 7-8 1,1008 EE 7-8-9 9,270
8 280 8-9 780M B H 7-8 1,820/
9 170

ABICOVWTRDTEEERROODE. TR LIV,



